INVITATION FOR BID

ISSUING OFFICE: PORT AUTHORITY OF GUAM Government of Guam RORY J. RESPICK 1026 Cabras Highway, Ste. 201, Piti, Guam 96915 General Manager INVITATION FOR BID No.: IFB/PAG-007-24 DATE ISSUED: March 7, 2024 BID FOR: PORT AUTHORITY OF GUAM TIRES AND BATTERIES BID SPECIFICATIONS: SEE ATTACHED **DESTINATION:** PORT AUTHORITY OF GUAM REQUIRED DELIVERY DATE: 45 Days Upon Receipt of Purchase Order. Delivery schedule time and quantity will be coordinated between the successful bidder and the requesting department on an as-needed basis. For a period of One (1) year on an asneeded basis upon the availability of funds with an option to extend for 90 days, THIS IS AN INDEFINITE QUANTITY BID. INSTRUCTION TO BIDDERS: INDICATE WHETHER: INDIVIDUAL PARTNERSHIP X CORPORATION INCORPORATED IN: ____ THIS BID SHALL BE SUBMITTED in duplicate with one (1) electronic copy and sealed to the issuing office above before or until Tuesday, March 26, 2024, at 10:00 a.m., Chamorro Standard Time (Guam Time) and shall be publicly opened. Any Bid submitted after the time and date specified above shall be rejected. See attached General Terms and Conditions, and Sealed Bid Solicitation for details. The undersigned offers and agrees to furnish within the time specified, the articles and services at the price stated opposite the respective items listed on the schedule provided unless otherwise specified by the bidder. In consideration of the expense of the Government in the opening, tabulating, and evaluating this and other bids, and other considerations, the undersigned agrees that this bid remains firm and irrevocable within 90 calendar days from the date of opening to supply any or all the items which prices are quoted. NAME AND ADDRESS OF BIDDER: SIGNATURE AND TITLE OF PERSON AUTHORIZED O SIGN THIS BID: Triple J Express Tire & Lube, Inc. dba Triple J Commercial Tire Center PO Box 6066 President Tamuning, Guam 96931 \$31,534.00 DATE: 04/30/2024 AWARD: CONTRACT NO.: IFB/PAG-007-024 AMOUNT: ITEM NO(S). AWARDED: __1.1-4.1, 6.1-12.1 and 14.1-16.1 CONTRACTING OFFICER: NAME AND ADDRESS OF CONTRACTOR: Triple J Express Tire & Lube, Inc. dba Triple J Commercial Tire Center PO Box 6066 Tamuning, Guarn 96931 RORY J. RESPICIO SIGNATURE AND TITLE OF PERSON General Manager AUTHORIZED TO SIGN THIS CONTRACT: GONERAL MANAGET Date: 5/7/24

IFB-PAG-007-24 Port Authority of Guam Tires and Batteries Bid

Item No.	Description	QTY.	UOM	Unit Price	Price Extension	
1.1	18.5 X 8.50-8 TIRE	8	EA	\$ 77.00	\$ 616.00	
	SPECIFICATIONS:			BIDDING ON/E	REMARKS.	
	GOLF CART 6 PLY Rating (REF: NANCO N699) or equal			BIDDING ON/REMARKS: COMPLY		
	Match OEM Tires: Low profile for c					
	Golf Carts, Summer Type Tires, Bia	s Construction				
	Bidding on:					
	Manufacturer: DURO					
	Model: HF273 6PLY Year: 2024					
		_				
	Place of Origin: TAIWAN Date of Delivery: 45 DAYS					
	Date of Delivery:					
2.1	205/70 R16 TIRE	4	EA	\$ 181.00	\$ 724.00	
	SPECIFICATIONS;			BIDDING ON/REMARKS:		
	2009 SUV-JEEP PATRIOT					
	CHEVROLET COLORADO			COMPL	Y	
	Bidding on:					
	Manufacturer: KUMHO					
	Model: SOLUS TA51					
	Year: 2024	_				
	Place of Origin: KOREA Date of Delivery: 45DAYS					
	Date of Delivery: 45DAYS					
3.1	215/55 R16 TIRE	8	EA	\$ 45.00	\$ 360.00	
	SPECIFICATIONS:			BIDDING ON/F	REMARKS:	
	FORD TRANSIT CARGO VAN (2),					
	MAZDA 3-4DOOR SEDAN			COMPL	_Y	
	Bidding on:					
	Manufacturer: OMNI					
	Model: RPX800					
	Year: 2024	_				
	Place of Origin: CHINA					
	Date of Delivery: 45 DAYS					
4.1	225/70 R15 TUBELESS TIRE	10	EA	\$ 56.00	\$ 560.00	
	SPECIFICATIONS:			BIDDING ON/I	REMARKS:	
	FORD RANGER/FORD UTILITY PICK	UP				
	TOYOTA TACOMA / DODGE DAKOT		COMP	LY		
	Highway All Season, Black Sidewalls, Load					
	Index 100, Speed Rating S					
	Bidding on:					
	Model: TE301					
	Manufacturer: TRIANGLE					
	Year: 2024 Place of Origin: CHINA					
	Date of Delivery: 45 DAYS					
	Oute of Delivery	Page 35 of 4:	0			

Page 35 of 40 IFB-PAG-007-24

Item No.	Description	QTY.	UOM	Unit Price	Price Extension
5.1	245/55R18 TUBELESS	4	EA	s NO BID	<u> </u>
	TIRE, ALL-SEASON				
	SPECIFICATIONS:			BIDDING ON/REM	ARKS:
	FORD EXPLORER WAGON				
	0.44				
	Bidding on: Manufacturer:				
	Model:				
	Year:	225			
	Place of Origin:	alesana.			
	Date of Delivery:				
6.1	LT245/75 R16 TUBELESS TIRE	8	EA	\$ 90.00	720.00
	SPECIFICATIONS:			BIDDING ON/REN	IARKS:
	FORD VAN/ CHEVY PICKUP TOYOTA TACOMA/PRE-RUNNER				
	FORD 250 PICK-UP TRUCK			COMPLY	
					-
	Oldding on.				
	Bidding on: Manufacturer: OMNI				
	Model: RENEGADE ATS 10PLY	, 			
	Year: 2024	_			
	Place of Origin: CHINA				
	Date of Delivery: 45 DAYS				
7.1	245/75R17 TIRE,	6	EΛ	\$ <u>95.00</u> \$	570.00
	ALL-TERRAIN				
	SPECIFICATIONS:			BIDDING ON/REM	APKS.
	FORD 650 DUALLY / DODGE 2500 TR	UCK		BIBOITG ON THEIR	MIND.
	FORD F350 / FORD F150			COMPLY	
	Bidding on:				
	Manufacturer: OMNI				
	Model: RENEGADE ATS 10PLY				
	Year: 2024	_			
	Place of Origin: CHINA Date of Delivery: 45 DAYS				
	Date of Delivery.	-			
3.1	700 x 12 - 12 PLY TUBE TYPE	8	EA	\$_220.00	\$_880.00
	TIRE, NON-DIRECTIONAL				
	SPECIFICATIONS:			BIDDING ON/REM	ARKS
	2008 HYSTER FORKLIFT 5 TON (REAR)			
	Bidding on:			COMPLY	
	Manufacturer: EBT				
	Model: TUFF DAWG 12PLY TT				
	Year: 2024	_			
	Place of Origin: SRI LANKA	_			
	Date of Delivery: 45 DAYS				

No.	Description	QTY.	ŲQM	Unit Price	Price Extension	
9.1	7.50 X 15 + 12 PLY TUBE TYPE TIRE, NON-DIRECTIONAL	8	EA	\$ <u>325.00</u>	\$ 2,600.00	
	SPECIFICATIONS: 2008 HYSTER FORKLIFT 5 TON (FRONT)			BIDDING ON/REMARKS: COMPLY		
	Bidding on: Manufacturer: EBT Model: TUFF DAWG 14 PLY T Year: 2024 Place of Origin: SRI LANKA Date of Delivery: 45 DAYS	<u>T</u>				
10.1	7.50 X 16 - 12 PLY TUBE TYPE TIRE, NON-DIRECTIONAL	8	EA	\$_360.00	\$ 2,880.00	
	SPECIFICATIONS: 2016 DOOSAN FORKLIFT 5 TON (FRO	ONT)		BIDDING ON/REMARKS: COMPLY		
	Bidding on: Manufacturer: EBT Model: TUFF DAWG 12PLY Year: 2024 Place of Origin: SRI LANKA Date of Delivery: 45 DAYS					
11.1	11.00 X 22.5R - 16 PLY TIRE	20	EA	\$ 220.00		
	SPECIFICATIONS: 2010/2016 OTTAWA YARD TRACTOR Pneumatic, 16-Ply, Load Rating G, All Positions (Steer/Drive), Drive Position Commercial Radial Bidding on: Manufacturer: TRIANGLE	es .			REMARKS: EER/ FRONT TIRE VE/ REAR TIRE	
	Model: TR696A/ TR657 16PLY Year: 2024 Place of Origin: CHINA Date of Delivery: 45 DAYS	 				
12.1	18.00R25-40-PLY TIRE	8	EA	\$ <u>2,043.00</u>	\$_16,344.00	
	SPECIFICATIONS: TOP LIFTERS Pneumatic, 40-PLY Rating, For All Position TRIANGLE TSMS L5(Steer/Drive), Non Directional; Tubeless (REF: IND-4) or equal			BIDDING ON/I	REMARKS:	
	Bidding on: Manufacturer: TRIANGLE Model: TL558S E4 3 STAR RAT Year: 2024 Place of Origin: CHINA Date of Delivery: 45 DAYS					

Page 37 of 40 IFB-PAG-007-24

13.1	VALVE STEMS			
	RUBBER		\$_0.00	\$
	INDUSTRIAL		\$ 0.00	\$
	LT/PASSENGER VEHICLES		\$ 0.00	\$
	INDUSTRIAL VEHICLES		\$_0.00	\$
14.1	MOUNTING/DEMOUNTING, BALANCING & ALIGNMENT		\$	\$
	(NO ALIGNMENT AVAILABLE) LT/PASSENGER VEHICLES		\$ 8.00	\$
	(MOUNTING AND BALANCING ONL INDUSTRIAL VEHICLES	Y)	\$ 22.00-62.00	\$
15.1	DISPOSAL FEE			
	LT/PASSENGER VEHICLES		\$ 9.00	\$
	INDUSTRIAL VEHICLES (BASED ON WEIGHT)		\$ 0.55 LB	\$
	uneven wear, bulging on tread or side w [X] Yes, offer as requested. [] No, offer the following:	vall.		
	() NO, Otter the following:			
17.1	D31T YELLOW TOP OPTIMA 12 SPECIFICATIONS: KALMAR OTTAWA T-2 TRACTORS Weight: 59.8 LB Height: 9.38 IN	EA	\$ NO BID	\$
	Length: 12.81 IN Width: 6.56 IN C20 Capacity: 75AH Starting Power: 900 CCA Reserve Capacity @ 25 AMPS: 155 Minut Terminal Type: Threaded Post — Type T12			
18.1	Width: 6.56 IN C20 Capacity: 75AH Starting Power: 900 CCA Reserve Capacity @ 25 AMPS: 155 Minut	۷	\$ NO BID	\$

Page 38 of 40 IFB-PAG-007-24

Terminal Type: SAE – Type A

Item No.	Description	QTY.	UOM	Unit Price		Price Extension		
19.1	D31M BLUE TOP OPTIMA	4	EA	\$ NO BID	\$			
	SPECIFICATIONS:							
	WATERCRAFT/BOATS							
	Weight:59.8 LB							
	Height: 9.38 IN							
	Length: 12,81 IN							
	Width: 6.56 IN							
	C20 Capacity: 75 AH							
	Starting Power: 900 CCA							
	Reserve Capacity @ 25 AMPS: 15	S Minutes						
	Terminal Type: Type M							
20.1	35 RED TOP OPTIMA	10	EA	\$ NO BID	Ś			
	SPECIFICATIONS:							
	ACCENT/TOYOTA/FORD/CHEVY							
	MAZDA/KIA PASSENGER VEHICLE	S						
	Weight: 31.7 LB							
	Height: 7.69 IN							
	Length: 9.38 IN							
	Width: 6.75 IN							
	C20 Capacity: 44 AH							
	Starting Power: 720 CCA							
	Reserve Capacity @ 25 AMPS: 90) Minutes						
	Terminal Type: SAE - Type A							
21.1	34/78 RED TOP OPTIMA	16	EA	s NO BID	S			
	SPECIFICATIONS:							
	FORD/CHEVY TRUCKS							
	Weight: 38.8 LB							
	Height: 7.88 IN							
	Length: 10.06 IN							
	Width: 6.94 IN							
	C20 Capacity: 50 AH							
	Starting Power: 800 CCA							
	Reserve Capacity @ 25 AMPS: 10	00 Minutes						
	Terminal Type: A/S (Duel)	•						
22.1	GROUP 8D BATTERY 12V	4	EA	\$_NOBID	\$			
	Minimum 1200 CCA	•		¥	▼			
	Terminal Type: Auto Post (SAE)							
23.1	GROUP 4D BATTERY 12V	4	EA	\$_NO BID	Ś			
	Minimum 950 CCA	*	LA	\$ 110 DID	₹			
	Terminal Type: Auto Post (SAE)							
24,1	8 V BATTERY	4	EA	\$ NO BID	\$_			
	For: Electrical Golf Cart							
	AMP Hour: 165 AH							
	Battery Terminal Type: STUD; Battery Type: Deep Cycle							
	Height: 11.125 in; Length: 10.25							
	Weight: 68 lbs; Wet or Dry: Wet;	Width: 7.125	in.					

NOTES:

- Tires to fit E.T.R.T.O. and T.R.A. Rims for Item Nos. 8.1; 9.1; 10.1; 11.1; 12.1; 13.1
- Tires must have DOT Tire Identification number for Item Nos. 2.1; 3.1; 4.1; 5.1; 6.1; 7.1
- Batteries are all Gel Type, 12V, maintenance-free for Item nos. 18.1; 19.1; 20.1; 21.1; 22.1;

Batteries are all led-acid type, we-charged, 12VDC/8V, Maintenance-free for item nos. 23.1;
 24.1

> DEFINITIONS:

- E.T.R.T.O: European Tyre and Technical Organization
- . T.R.A: Tire and Rim Association
- OEM: Original Equipment Manufacturer
- SUV: Sport Utilities Vehicle
- LT: Light Truck
- ST: Special Trailer
- CCA: Cold Cranking Amps
- SAE: Society of Automotive Engineers
- AMP: Ampere
- V: Volts
- Ah: Amp-Hours

These specifications were developed by the staff of the Fleet Maintenance Division of the Port Authority of Guam Evelyn G. Pangelinan, Maintenance Planner-Equipment, Geraldo E. Tajalle, Supply Technician I, John Leon Guerrero, Fleet Supervisor, Shine A. San Agustin, Equipment Superintendent (Acting), Glenn B. Nelson, Maintenance Manager (Acting), Reviewed by Annie LG. Sablan, Procurement/Supply Manager (Acting), and approved by Rory J. Respicio, General Manager.